
��������&OHPVRQ�0HQ
V�6RFFHU
&RPELQHG�6WDWLVWLFV

$OO�JDPHV
3DJH����

DV�RI�1RY���������

'DWH 2SSRQHQW 6FRUH $WW�
���������� DW�6RXWK�&DUROLQD : ��� ���
���������� 8$% : ��� ���


 ���������� DW�1RUWK�&DUROLQD / ��� �

 ���������� :DNH�)RUHVW : ��� ����

 ���������� 'XNH :RW� ��� ����

 ���������� DW�1&�6WDWH : ��� ��

 ���������� 1RUWK�&DUROLQD 7RW� ��� ����

 ���������� DW�:DNH�)RUHVW / ��� �
���������� YV�9LUJLQLD�7HFK : ��� �

7HDP�VWDWLVWLFV
&/(0 233

6+27�67$7,67,&6
*RDOV�6KRW�DWWHPSWV ������ ����
*RDOV�VFRUHG�SHU�JDPH ���� �
6KRW�SFW� ���� ����
6KRWV�RQ�JRDO�$WWHPSWV ������ �����
62*�SFW� ���� ����
6KRWV�*DPH ���� ����
$VVLVWV �� �

*2$/�%5($.'2:1
7RWDO�*RDOV �� �
3HQDOW\ � �
8QDVVLVWHG � �
2YHUWLPH � �
*RDOV�VFRUHG�DYHUDJH ���� �

&251(5�.,&.6 �� ��
*RDOV�Rc�FRUQHUV � �

3(1$/7<�.,&.6 ��� ���
2))6,'(6 �� ��
3(1$/7,(6
)RXOV ��� ���
<HOORZ�FDUGV �� ��
5HG�FDUGV � �

$77(1'$1&(
7RWDO ���� ���
'DWHV�$YJ�3HU�'DWH ����� �����
1HXWUDO�6LWH���$YJ ��� �

5HFRUG 2YHUDOO +RPH $ZD\ 1HXWUDO
$OO�*DPHV ����� ����� ����� �����
&RQIHUHQFH ����� ����� ����� �����
1RQ�&RQIHUHQFH ����� ����� ����� �����

� 3OD\HU *3 * $ 376 6+ 6+� 62* 62*� *:* 3.�$77
� 6PLWK��.LPDUQL � � � �� �� ���� �� ���� � ���
�� %DUEHU��*UD\VRQ � � � � �� ���� �� ���� � ���
�� %ULJKWRQ��-DPHV � � � � �� ���� �� ���� � ���
�� 6H\H��0RKDPHG � � � � � ���� � ���� � ���
� -RKQVRQ��&DOOXP � � � � �� ���� � ���� � ���
�� )HUQDQGH]�6DOYDGRU��/XLV�)HOLSH � � � � � ���� � ���� � ���
� 0DORX��-XVWLQ � � � � � ���� � ���� � ���
�� 0F1HLOO��4XLQQ � � � � � ���� � ���� � ���
�� $VHQVLR��&KDUOLH � � � � � ���� � ���� � ���
�� 0D\DND��3KLOLS � � � � � ���� � ���� � ���
�� 0DWODVKHZVNL��&KULV � � � � � ���� � ���� � ���
�� *RPH]��$OYDUR � � � � � ���� � ���� � ���
�� 5HLG��,VDLDK � � � � � ���� � ���� � ���
�� 3DUULVK��%UDQGRQ � � � � � ���� � ���� � ���
� bJUHQ��2VNDU � � � � � ���� � ���� � ���
�� +DOOHQEHUJHU��-RVK � � � � � ���� � ���� � ���
�� 5XVVHOO��6WLUOLQJ � � � � � ���� � ���� � ���
�� %DUURQ��-DNH � � � � � ���� � ���� � ���
� 0DUNV��*HRUJH � � � � � ���� � ���� � ���
� )LVKHU��0D[ � � � � � ���� � ���� � ���
�� 0DUWLQ��-RKQ � � � � � ���� � ���� � ���
�� 0RQWDQD��(QULTXH � � � � � ���� � ���� � ���
� 6XOOLYDQ��'\ODQ � � � � � ���� � ���� � ���
� (UNHQV��%HQ � � � � � ���� � ���� � ���
7RWDO � �� �� �� ��� ���� �� ���� � ���
2SSRQHQWV � � � �� �� ���� �� ���� � ���

�� *RDOLH *3 0,1� *$ *$$9* 6$9(6 3&7 :�/�7 6+2�&%2
� 0DUNV��*HRUJH � ������ � ���� �� ���� ����� ���
� )LVKHU��0D[ � ����� � ���� � ����� ����� ���
70 7($0 � ����� � ���� � ����� ����� ���
7RWDO � ������ � ���� �� ���� ����� �
2SSRQHQWV � ������ �� ���� �� ���� ����� �

*RDOV�E\�3HULRGV
7HDP �VW �QG 27� 27� 727$/
&OHP � � � � ��
2SSRQHQWV � � � � �

6KRWV�E\�3HULRGV
7HDP �VW �QG 27� 27� 727$/
&OHP �� �� � � ���
2SSRQHQWV �� �� � � ��

6DYHV�E\�3HULRGV
7HDP �VW �QG 27� 27� 727$/
&OHP � �� � � ��
2SSRQHQWV �� �� � � ��

&RUQHUV�E\�3HULRGV
7HDP �VW �QG 27� 27� 727$/
&OHP �� �� � � ��
2SSRQHQWV �� �� � � ��

)RXOV�E\�3HULRGV
7HDP �VW �QG 27� 27� 727$/
&OHP �� �� � � ���
2SSRQHQWV �� �� � � ���


